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“kkldh; nkuohj rqykjke LukrdksRrj egkfo|ky; mrbZ] nqxZ 

v)Zokf’kZd ijh{kk&2020&21 

Lukrd ch-,-@ch-,l&lh-] ch-dkWe-&r`rh; o’kZ  

fo’k;&vk/kkj ikB~;Øe ¼fgUnh Hkk’kk½ 

       iw.kkZad % 50 

uksV %& fdUgh nks iz”uksa ds mRrj nsaA 

 

iz01- ^Hkkjr ekrk* dfork dk vk”k; Li’V djrs gq, mldh fo”ks’krkvksa ij izdk”k MkysaA          25 

vFkok 

lajpukvksa dks Li’V djrs gq, fgUnh dh fofo/k lajpukvksa dk laf{kIr ifjp; nhft,A 

 

 

iz02- misUnzukFk v”d dh ,dkadh ^lw[kh Mkyh* dh leh{kk dhft,A               25 

vFkok 

^ij”kqjke dh izrh{kk* dfork ds mn~ns”; ij izdk”k Mkfy,A           

vFkok 

“kSyh fdls dgrs gSaA dFku dh fofo/k “kSfy;ksa dk laf{kIr ifjp; nhft,A 

 

 

 

    



HALF YEARLY EXAMINATION 2020-21 

B.A./B.Sc/B.Com – III 

ENGLISH LANGUAGE 

TIME: 1.30 Hours          MM – 50 

Q. 1 Answer the following questions in about 200 words: (any one)  10 

(a) Write the summary of the poem „Three Years She Grew‟. 

(b) Write the summary of the story “The Judgement seat of Vikramaditya”. 

Q. 2  

(A) Insert the ‘Prefixes’ in the following phrases (any two):    2   

  i.  An...........lucky accident . 

  ii. An...........illegal business deal. 

 Iii .To...........trust politician. 

(b) Give one word of sentences from the given words: (any three)               3 

    Artisan, spouse,  invigilator,  teetotaller, hermit 

                  1.   An..........is a person who helps another person to commit a crime. 

2    An...........is a person who supervises the people taking  an examination. 

3    A............is one‟s husband or wife. 

4 A...........is a person who never drinks alcohol. 

5.   A.........is a person who has withdrawan from society. 

 

Q. 2(B) Read the given passage carefully and answer the questions: 5 

 Man longs for happy and peaceful life. He does not want to face any sorrow, misfortunes and 

failures. For him, life should be a continuous flow of success, peace, progress and prosperity. Man 

should however realise that adversities in life have their own advantages. It is these moments of 

stress, sufferings and misfortunes which bring forth the best faculties of man. These moments make 

him thoughtful and believe in  God. In fact  man  learns a lot from his failures and sufferings. Just as 

the heat of the fire turns impure gold into pure gold, failures give us courage to work hard and face 

adversities bravely and face them. Milton and Soordas wrote best when they became blind. 

Numerous instances can be given to prove that great things have been achieved in  time of suffering 

and adversity. 

Questions: 

1. What kind of life does  man wish to lead? 

2. What are the advantages of adversities? 

3. When did Milton and Soordas write best? 

4. When can great things be achieved? 

5. Give a suitable title to the passage. 

Q. 3 Write Precis about the following given passage and also provide suitable title to it:  5 

 Forests are called the “green golden” of a country because they are country‟s wealth. There 

are numerous advantages of having green forests They give us rain, they give us floods and give us a 

number of Valuable products. We get timber for building our houses, wood for furniture and fuel for 

cooking food. Besides these, many other useful products are got from them. They are honey, wax, 

oil-herbs, gum, lac and dyes. Think of paper mills, can they produce paper without  getting wood 

from the forests? The industry of artificial silk depends on forests. Forests add to the beauty of 

country and provide shelter to wild animals. 

Q.  4  Write an essay in about 200 words (any one):    5 

1. Importance of computer knowledge 

2. Role of women in society 

3. Problem of sanitary conditions in your city 

4. Students and discipline 

Q. 5  Do as directed: (any ten)      20  

  Supply the correct form of the verb given in brackets: 

1. „A Tale of Two Cities‟ ( is, are) an excellent novel of Dickens. 



2. The news at last (give, gives) ground for better future. 

3. Wheather (change, changes) all the time. 

Insert suitable ‘Prepositions’: 

4. He is being kept .............police custody.  

5. He was accused ...........murder. 

6. Profits depend largely ...............production and sales. 

Supply ‘if’  or  ‘unless’: 

7. I will go to the door.........I  hear the bell. 

8. I Will not go to the doorI............I hear the bell. 

Supply suitable tense form: 

9.    I (always have) trouble with my car these days. 

10.  I hope it (not rain) when the bride (leave) the mandap tomorrow. 

Put the following correct Nouns in the blanks: 

          Bunch,  suite,  crew,  fleet. 

11.  Karan gave Reetika a ...........of flower. 

12.  The President occupied a ............of rooms  in a hotel. 

13.   The ...........Indian army is very strong now. 

. 

      Change into ‘Voice’: 

 14. Somebody has stolen my purse. 

 15. She was dismissed from the service. 

              

            Change  ‘Narration’ 

 16. He said, „Are you enjoying yourself? 

 17. She said,” I will sing a song today. 

   

     xxxxxxxxxx 
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GOVT. DANVEER TULARAM P.G. COLLEGE UTAI, DURG 
 

Half Early exam 
B.sc – III 

Subject- computer science 
 

Maximum Mark:50 

Note: Attempt any Five question.  

   All questions carry equal marks. 

Q.1) What is DBMS? Explain database Administrator.                  10 

Q.2) Explain E-R modal and struct E-R diagram for college management.                  10 

Q.3) Explain Relational Algebra & Relational calculus.                   10 

Q.4) Define pitfalls in relational database design?                   10 

Q.5)  Short note: -                       10 

a. Keys. 

b. Weak Entity set. 

c. Database users. 

d. View of database. 

Q.6) Explain Normalization with the help of Normal forms.                  10 

 

 

 

 

 

 



          H.C.U.D-306                                            B.SC. - III- Maths 
 

“kkl-nk-rq-LukrdksRrj egkfo-mrbZ] nqxZ 

v)Zokf’kZd ijh{kk&2020&21 

ch-,l&lh- Hkkx&3 ¼izFke iz”u i=½ 

fo’k;&xf.kr 

 

     vf/kdre vad % 50 

 

uksV %& izR;sd [k.M ls nks iz”u gy djuk vfuok;Z gSA lHkh iz”uksa ds vad leku gSA   

Note –  Solve two question each section. All questions carry equal marks. 
 

[k.M ^v* (Section – A) 
 

 

iz01- Qyu F(x) ds fy;s vUrjky (- , ) esa Qwfj;j Js.kh Kkr dhft,] tgk¡  
 

 

   
 

 

iz02- ;fn F(x) = x3, x                        rks n”kkZb;s fd f                   rFkk   

 

 

 

iz03- fl) dhft, fd Qyu u = x
3
-3xy

2
+3x

2
-3y

2
+1 ykIykl lehdj.k dks larq’V djrk gS vkSj laxr 

fo”ys’k.k Qyu u+ivdks Kkr dhft,A  

 

    , 

 



          H.C.U.D-306                                            B.SC. - III- Maths 
 

“kkl-nk-rq-LukrdksRrj egkfo-mrbZ] nqxZ 

v)Zokf’kZd ijh{kk&2020&21 

ch-,l&lh- Hkkx&3 ¼f}rh; iz”u i=½ 

fo’k;&xf.kr 

 

     vf/kdre vad % 50 

 

uksV %& izR;sd [k.M ls nks iz”u gy djuk vfuok;Z gSA lHkh iz”uksa ds vad leku gSA   

Note –  Solve two question each section. All questions carry equal marks. 
 

[k.M ^c* (Section – B) 
 

iz01- ;fn  G  dksfV P
n
 dk ,d lewg gS] tgk¡ P  ,d vHkkT; la[;k gS rFkk  n ,d /ku iw.kkZad gS] rc 

lewg G vo;o gh ,d vrqPN dsUnz j[krk gS] Z (G)       (e) 

 

If G is a group of order pn, where p is a prime number and n is a positive integer, then 

G has a non-trivial centre L.e. Z (G)        (e) 

   

 

iz02- fdlh oy; (R, +,   )dh nks ¼oke½ xq.ktkofy;ksa dk loZfu’B Hkh ,d ¼oke½ xq.ktkoyh gksrh gSA  

  The intersection of two (left) ideals of any ring (R, +,   )  is (a left) an ideal of R. 

                        
 

 

iz03- tk¡p dhft, fd lfn”kksa ¼2] 3] &1½] ¼&1] 4] &2½ ,oa ¼1] 18] &4½ dk leqPp; lfn”k lef’V    

V3 (R) esa jSf[kdr% LorU= gS ;k ijrU=A 

 Examine whether the set of vectors (2, 3, -1), (-1, 4, -2) and (1, 18,-4) is linearly 

independent or dependent in V3 (R) 

 

    , 

 



          H.C.U.D-306                                            B.SC. - III- Maths 
 

“kkl-nk-rq-LukrdksRrj egkfo-mrbZ] nqxZ 

v)Zokf’kZd ijh{kk&2020&21 

ch-,l&lh- Hkkx&3 ¼rr̀h; iz”u i=½ 

fo’k;&xf.kr 

 

     vf/kdre vad % 50 

 

uksV %& izR;sd [k.M ls nks iz”u gy djuk vfuok;Z gSA lHkh iz”uksa ds vad leku gSA   

Note –  Solve two question each section. All questions carry equal marks. 
 

[k.M ^l* (Section – C) 
 

 

iz01- xf.krh; vkxeu ls fn[kkb, fd  

  1
2
+2

2
+ ………….…… + n

2
  =                             ,   n 

   

Show  that  1
2
+2

2
+ ………….…… + n

2
  =                             ,   n 

  By mathematical induction. 
 
 

iz02- ;fn  R
-1

 rFkk S
-1
 Øe”k% lEcU/kksa R rFkk S ds izfrykse lEcU/k gks rks fl) dhft, fd  

  (SOR)
-1

 = R
-1 

O S
-1 

 

  If   R-1  and  S-1 are inverse of the relations R and S respectively then  

(SOR)
-1

 = R
-1 

O S
-1 

 

iz03- n”kkZb;s fd Hkk’kk L =          ,d ifjfer voLFkk Hkk’kk ugha gSA 

  Show  that  the language                is not a finite state. 

         
 

 

    , 

 



 

H.C.U.D-306                              B.Sc.-III-Chemistry 
 
 

“kkl-nk-rq-LukrdksRrj egkfo-mrbZ] nqxZ 

v)Zokf’kZd ijh{kk&2020&21 

Lukrd ch-,l&lh-&rr̀h; o’kZ  

fo’k;&jlk;u”kkL= 

       iw.kkZad % 50 

uksV %& lHkh iz”uksa ds vad leku gSA 

 

[k.M&^v*  

iz01- twy fu;rkad D;k gS] ljy vkoZrh nksyd esa  =   dks O;qRiUu dhft,A        15 

vFkok 

“kwU;ksRrj ÅtkZ dk fu/kkZj.k djrs gq, bls ifjHkkf’kr dhft,\ 

iz02- ?kw.kZu LisDVªe esa leLFkkfud dk izHkko dk fu/kkZj.k dhft,A               10 

  

vFkok 

 

fo|qr pqEcdh; rjax esa fofHkUu dEiu {ks= dh ÅtkZ ,oa rjaxnS/;Z dk {ks= fu/kkZfjr dhft,\ 

 
 

[k.M&^c*  
 

iz01- =ksf.kataj lehdj.k ds vk/kkj ij dEiu ÅtkZ ,oa dEiu rjax la[;k dks fu/kkZfjr djrs gq, 

fofHkUu laØe.k Lrj dks le>kb,A                            15 

vFkok 

?kw.kZu LisDVªe ,oa dEiu LisDVªe esa p;u fu;e D;k gS\ blds vk/kkj ij laØe.k dks le>kb,\ 

iz02- fl) dhft, & n<̀+ ?kw.kZd ds fy, I = r2                     10 
  

vFkok 

 

 fl) dhft, & ?kw.kZu LisDVªe esa  = BJ (J+1)    gksrk gSA 

    



‘     

“kkldh; nkuohj rqykjke LukrdksRrj egkfo|ky; mrbZ] nqxZ 

v/kZokf"kZd ijh{kk & 2020&21  

d{kk & ch-,l&lh Hkkx &rhu 

     fo"k; & HkkSfrd”kkL=           MM:100 

[k.M & * v * 

 

iz'u- 1   fuEufyf[kr esa ls dksbZ nks iz”u gy dhft, A¼izR;sd 20 vad½ 

 ¼v½ ekbdYlu eksysZ iz;ksx dk o.kZu dhft, ,oa blds _.kkRed ifj.kke dh foospuk dhft, A 

 ¼c½ dWkEiVu izHkko D;k gS \ dWkEiVu gVko ds fy, O;atd fuxfer dhft, A   

 ¼l½ vfuf”prrk fl)kUr dks Li"V djus ds fy, xkek fdj.k lw{en”khZ iz;ksx dk o.kZu dhft, A  

iz'u- 2   fuEufyf[kr esa ls dksbZ ,d iz”u gy dhft, A¼izR;sd 10 vad½ 

 ¼v½ le; foLRkkj ds fy, vko”;d O;atd fuxfer dhft, A 

 ¼c½ nzO; rjaxs D;k gS A  

[k.M & ßcß 

 

iz'u- 1   fuEufyf[kr esa ls dksbZ nks iz”u gy dhft, A ¼izR;sd 20 vad½ 

¼v½ feyj lwpd D;k gS \ ?kukdkj fdzLVy esa nks dzfed tkyd Rkyksa ds chp dh yEcor nwjh   

ds fy, O;atd fuxfer dhft, A  

¼c½ M;wyksax isfVV fu;e D;k gS \ fpjlEer fl)kUr }kjk bls fuxfer dhft,A  

¼l½ izfrpqEcdRo ds ysatsfou fl)kUr dks le>kb, A  

iz'u- 2   fuEufyf[kr esa ls dksbZ ,d iz”u gy dhft, A¼izR;sd 10 vad½ 

 ¼v½ O;qRdze tkyd D;k gS A 

 ¼c½ QehZ ÅtkZ D;k gS \ 

 



 



 

Govt Danveer Tularam Post Graduate College Utai, Dist-Durg (C.G.) 

Half yearly Examination2020-21 

INTERNAL ASSESMENT 

BiotechnologyB.Sc.(Part-III) 

 

 

 Time : 2 Hrs.       Marks : 50 

 

Note: Attempt one question from each section. Each Section Carry 25 Marks. 
 

Section-A 

 

Q.1 (a) Write the short note of the immune system.    

                             (b) Define antibody with l well labeled diagrams.  

OR    

          Q.1 Write  short notes  on the following: 

                          a) cytokines. b) B-Lymphocytes , c) Sets of T-cells, d) Antigen -antibody  

    e) lymphoid organs 

Section-B 

 

Q.2 (a) Explain the Interferon.       

                              (b) What is Rh factor? 

                              (c)  write about blood groups. 

                            

OR      

Q.2 (a) Give the introduction of immuno hematology.    

(b) Write in  short  about  interaction of antigen and antibody.    

 

 

 

 

 

 

 

 



 



Govt Danveer Tularam Post Graduate College Utai, Dist-Durg (C.G.) 

Half yearly Examination 2020-21 

INTERNAL ASSESMENT 

Zoology B.Sc. (Part-III)                                                                          
MM 50 

Note: Attempt one question from each section. Each Section Carry 25 Marks. 

Section A 

Q1 (a)Define ecosystem.  

       (b) Write abiotic and biotic components of the Grassland ecosystem. 

       (c) What are trophic levels in it? Show in pyramids. 

Or 

Q1 (a) What is demography? 

       (b)  define mortality and natality 

       (C) write in short about-amoebic dysentery and pyorrhoea with example and 

illustrations. 

 

Section B 

 

Q1Write about the following 

     1.Gycogenesis., 2. Gluconeogenesis., 3. Glycolysis, 4. Glycogenolysis 

Or 

Q1 Draw a well labelled diagram of Ornithine cycle. Also write its salient features. 

      


